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Section : General Intelligence and Reasoning
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Question ID : 26433068556
Status : Answered
Chosen Option : 3
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Question ID : 26433087182
Status : Answered
Chosen Option : 3
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Question ID : 26433069025
Status : Answered
Chosen Option : 1
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Question ID : 26433057855
Status : Answered
Chosen Option : 1

Ans
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Question ID : 26433069007
Status : Answered
Chosen Option : 1
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Question ID : 26433068378

Not Attempted and

Status : Marked For Review

Chosen Option : --
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Ans X 1.20,6
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& 3.27,-13
X 4.9 -8

Question ID : 264330105150
Status : Answered
Chosen Option : 3
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Ans X 1.(9-90-80)
X 2. (6-60-50)
& 3.(7-70-68)
X 4.(8-80-70)

Question ID : 264330105085
Status : Answered
Chosen Option : 3
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1. Fustian
2. Funerary
3. Fusion
4. Funicular
5. Fuscous
6. Fundament
7. Fuselage

Ans 7 1.6,2,4,57,3,1
X 2.6,2,57,3,4,1
K 3.6,257,4,1,3
X 4.6,2,54,7,3,1

Question ID : 26433068929
Status : Answered
Chosen Option : 1
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Ans X 1. TMEI
X 2.9
< 3. fuar
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Question ID : 26433059903
Status : Answered
Chosen Option : 4
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Question ID : 26433068910
Status : Answered
Chosen Option : 4
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(15,9, 4)
(7,2,3)

Ans X 1.(21,12,6)
X 2.(18,7,7)
X 3.(24,9,11)
o 4.(19,13, 4)

Question ID : 26433070238
Status : Answered
Chosen Option : 4
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Ans X 1.9x7+4+1-6=7
& 2.7x6+3%958=17
X 3.6x8-923+5=50
X 47+6x4+9-8=8

Question ID : 264330105135
Status : Answered
Chosen Option : 2
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Ans 7 1.58
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X 3.56

X 4.60

Question ID : 26433067335
Status : Answered
Chosen Option : 1
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Question ID : 26433068424
Status : Answered
Chosen Option : 2

Q.16 fafafed & & FH-a1 seR-wg &t 78 S@an # uy-fug (7) F wfownfid s
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Ans X 1.RKN
& 2.SKO
& 3.RIN
< 4.8J0

Question ID : 26433057987
Status : Answered
Chosen Option : 3
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Ans X 1.P+Q=+R
X 2.PxQ+R
« 3.P+=QxR
X 4P+Q+R

Question ID : 264330104990
Status : Answered
Chosen Option : 4
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Question ID : 26433068679
Status : Answered
Chosen Option : 1
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X 2.BzY
& 3.BzM
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Question ID : 264330104801
Status : Answered
Chosen Option : 4
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Question ID : 26433068204
Status : Answered
Chosen Option : 2
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Ans X 1.406
& 2. 410
< 3.408
X 4.409

Question ID : 264330105011
Status : Answered
Chosen Option : 2
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Question ID : 26433076651
Status : Answered
Chosen Option : 1
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Question ID : 264330104924
Status : Answered
Chosen Option : 2
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Ans X 1.IFBKHMF
< 2. IFBMJOH
« 3. GDZKHMF
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Question ID : 26433067762
Status : Answered
Chosen Option : 3

Q25 uep &Y 9 Hr AT HewEr-verT Tufowt s @ mr (e 1 ¥ 3)
211 T Bk F 9T $oe W gE Jg fifaw)

figure 1 figure 2 figure 3
Ans X 1.6
X 23

& 3.4
X 45

Question ID : 26433070245
Status : Answered
Chosen Option : 3

Section : General Awareness

Q.1 T, "SR BT 3exG AT 3R IEaR AreAfie ey oM arel asfeal @ g
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Ans X 1. 3[@H
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Question ID : 264330105262
Status : Not Answered
Chosen Option : --
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Ans X 1. 3R HIAS db

o 2. AR W DA dd

X 3. TS A BB ah
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Question ID : 26433089224
Status : Answered
Chosen Option : 4

Q.3 2011 P} TV & AR, HRA X [OU WERATER @l
Ans X 1.84.14 yfawd

X 2.83.14 fa=rd

o 3.82.14 Tfa=rd

X 4.81.14 Ufa=id

Question ID : 264330105531
Status : Answered
Chosen Option : 3

Q.4 1979 | et fafewt & a1y 39 Frafe zaver § Agayul sifiemHe! & wusn: §RiH-
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Ans X 1. gRId€e
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X 3. U fhRR
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Question ID : 26433064073
Status : Not Answered
Chosen Option : --

Q5 HRIyS IR T fora g & It & weEfta 82
Ans 1 Gicd wifla

X 2. BRI

X 3. fEgwrh wfta
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Question ID : 26433064644
Status : Answered
Chosen Option : 4
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Ans 7 1 U
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X 3. T
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Question ID : 26433086782
Status : Answered
Chosen Option : 1
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Question ID : 264330105195
Status : Answered
Chosen Option : 2
Q.8 frufrfad & 4 i @R & fasa Soqa & W | ST ST 82
Ans 1. g0 TEIE
X 2. gsHR Aa
X 3. B I HIeqd
X 4. TTEER Ha
Question ID : 26433071694
Status : Answered
Chosen Option : 4
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Question ID : 264330105639
Status : Not Answered
Chosen Option : --
Q.10 YRT F IWTPUFY F I A Fruffad § § S19-91 HY=F Taad 272
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Question ID : 26433074847
Status : Answered
Chosen Option : 4
Q.1 fRraradt 3 fra yRdT T et H ulures &2
Ans X 1.93%
X 2. BBl
X 3. Sfifsh
4. T
Question ID : 26433054326
Status : Not Answered

Chosen Option : --




Q.12 f5g af $ YRAT Teie A goidty fafrum Bt Riv GaeTitedar « iRy wew ¢d gU Ua
faraor e o ar U2
Ans 7 1.2005-06

< 2.2008-09
25 3.2001-02
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Question ID : 264330105390
Status : Not Answered
Chosen Option : --
Q.13 YHI-URR, WEAT T§ G CACICUR ]
Ans X 1. iRy widhe
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X 3. PfxTH gEgIeiags
X 4. Pfcxrgw RS

Question ID : 264330105479
Status : Answered
Chosen Option : 4

Q14 RO faamrR A # asfeal & fig oo @t v 3t
Ans X 1.©BR
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K 3.

X 4. 9@

Question ID : 264330105582
Status : Answered
Chosen Option : 2

Q.15 yfovgyf (@=mes) fdads, 2022 # t.3ft.oms. gRT a9-37 W M uIRd 31 B 99h-
Hmat2ofAdgwemr_ RAasHsywma )

Ans X 1.140
2. 150
< 3.180
04,190

Question ID : 264330105233
Status : Not Answered
Chosen Option : --

Q.16 Fufafed & 9 fFa o § araar o) 69 w© swaer g a2
Ans X 1.1800

& 2.1782H

X 3.1769 1

X 4.1817H

Question ID : 26433089145
Status : Answered
Chosen Option : 2




Q.17 fmfafad § @ S fawe gafa 82
Ans X 1. %A SR - IRE Fd PI gAY

o 2. Q- TH

X 3. MRS gaT - BT Swiern o
X 4.9 ¥ @1 g g

Question ID : 26433071445
Status : Answered
Chosen Option : 2

Q.18 Ffig W WATad & : P 91 I9F 1< fffa, smarfed ar i fere e
i amﬁw"aaw;éﬂ:;ﬁammm%"%mﬁﬁ@m%maw?{

Bfa (Display Image) Hﬁ?ﬁﬁ \_:lTQTﬁI
Ans X 1.1 SFdsl, 2023
2 2. 1A, 2023
X 3.17dR, 2022
4. 18R, 2022

Question ID : 264330105234
Status : Not Answered
Chosen Option : --

Q.19 gyt g M) 7 e $few gadie & te umT & wu A fbe i3 smanT & wga
T ° A= & giiaT fhed ST @I Bt Ba TPipd fbar 412

Ans o 1. 24 RIdeR 2020
X 2. 24 RidsR 2019
X 3. 24 RydsR 2021
X 4. 24 R¥dsR 2018

Question ID : 26433059383
Status : Answered
Chosen Option : 3

Q.20 ST 3 U Bt fran 3 a5 & {54 THR Terdl Ha1 22
Ans X 1. gIEQIHIING S UK & fdued ¥ 9T Bil 5

X 2. TESIGAIRD 3 U &RBI (basic) HIEH T 8, ST TogH VR b7 foba o1
AU a1 3|

X 3. SRSIAIRD 3 Uh &R (alkaline) ATEH STAT 7, S o R o1 famar o1

YRurere® SHIaT 81
o 4. TSGR 3 U ST I ST €, o UolTeH UfRH &1 fohar & gfaurse

EEIGIN

Question ID : 26433064756
Status : Not Answered

Chosen Option : --

Q.21 1919 F WRaATId Iae RTaw A TeFifae Hieal B i gwen & ¥ forw
R & = #t argufa
Ans 1 rad
X 2. 88 HEH
X 3. umay
X 4. HEN

Question ID : 26433085266
Status : Answered
Chosen Option : 2




Q.22 XAIHS 79 T4 B YHHTT & IUALd § YR A JRAH THER §RT T I qTel 969
@yl |eR Fafafad § 3§ si-ar 82

Ans  p 1 TR

< 2. 35 el

X 3.35-30-R
X 4. foretre-3a-elt

Question ID : 26433072643
Status : Answered
Chosen Option : 1

Q.23 gIRTRIfaE o7 ot IaTeHd Fafirad § 9 fFae! e a=5d 82
Ans X 1. [ JUGHA AR IJTHA

X 2. muftre ofR fecae Iarewar

« 3. IS TfE I AR Yad Mrufie Iareadar

X 4. 959 IAGHA 3R WHES Iaghdl

Question ID : 26433086752
Status : Not Answered
Chosen Option : --

Q.24 AR ¥ I P Ugeht IR ___ Ueganify den & =nfirer fvam mam A
Ans ¢1.Fﬁﬂﬁ
X 2. dfadt
X 3. ugell
X 4.qmd

Question ID : 26433065459
Status : Answered
Chosen Option : 1

Q.25 JARTPIY fhdbe & A fhdbe g F1 3iwa alkfy w82
Ans X' 1.10.46 - 10.90 I

X 2.789%9-845%d

X 3.9.45%9-10.2039

 4.88139-9%4

Question ID : 26433070838
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q1 g YW GRI (5y- 1) e AT &1 71 g8 (125 % — 1) km & | XETIE] &1 A1 1 I
Ans X 1. (Sy+ 1) knmvh

2 (25y*+ by+1) km'h

X3 (25y*— 5y+1) km/h

X4 (5y3—1)kmh

Question ID : 26433062679
Status : Answered
Chosen Option : 2




Q.2 BT F TP Fe H, U9 B F U 2 S 1p4T 8, GO P U 4 ¢fpai §, R F U 6
<ifpai § 3R 3t ave 9t orl & ury eifthai €1 afe ®en ¥ o Pt W@ 25 ¢, ot
<ifeal 3t o e i /A Y S o awar 81

Ans X 1.113fR 13

2.5 3R 13
X 3.53R7

K 4. 73RN

Question ID : 26433071240
Status : Answered
Chosen Option : 2

Q.3 ) Sufieart & §i¥ TP ga1a &, Wi Suflqar 3 U3 §T Ay Hal o7 42% giire fbar
3R 9% 7,68,400 Tal | TG TR TTI FS 82,560 Wil BT AT My B faam mar 41 3k
20% S 3 ST T AE1 ST, Y ST T, A gRT A8} ST ¢ walt & fra ufowra
(GRTTEA & 1 TP 3iF aF) A?

Ans X 1.12.9 UfoRd
< 2.10.6 U=
X 3. 9.8 Ufa=@
o 4. 6.8 U=

Question ID : 26433063201

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.4 e YR WTa T=TY §, A TUH 0’ Wipd St BT Ui quiaR A J1d B0

Ans

x 1. n(n+17}
2

x o min+1)2n+1)}
&
(Zn+1)
3
X4 n

& 3.

Question ID : 26433073120
Status : Answered
Chosen Option : 1

Q.5 THRAYFT P YATE 4 : 6 : 8 F 3JUTd A 1 U8 AT YT 82
Ans X 1. iy

X 2. gHAfgaTg Ays

X 3. gEIvy

4. 3F vl

Question ID : 26433075009
Status : Answered
Chosen Option : 1




Q.6 Tfe T 3refia &1 aar 28 V.. 8, @Y Srefiid o1 A w82
Ans X' 1.6349.22 9103

X 2.6728.11 9413
X 3.5124.44 Q73
 4.5749.33 4.7 3

Question ID : 264330105848
Status : Answered
Chosen Option : 4

Q.7
+2x+ :
uﬁrx+——5% a‘rxg’;f T TLEFT HL
Ans
R
x2 2
Yz
7
vs.—}?

Question ID : 26433080256
Status : Answered
Chosen Option : 3

Q.8 T7 DI A DI W& FT gRM o GRAT $ W T8 15, 18, 25 3R 32 | gofa: fyursa &t
EIQIN?

Ans X 1.7200
& 2.3200
« 3. 3600
& 4.6400

Question ID : 26433074256
Status : Answered
Chosen Option : 3

Q9 A fFft wrf #1 1 T A B A ST 3R ¢ A & 1 G0y AT B 1 TP 1Y A ok
P BT, T 8 3T & 1 &1 [T B~ qobal &1 BT B TR B P AT HHT: A, B 3R C gRT
forar war W (fe= ) a0 S

Ans X 1.42,21,14
o 2.48,24,16
/< 3.54,27,18
< 4.60, 30, 20

Question ID : 26433075568
Status : Answered
Chosen Option : 2




Ans

X 1.729 cm3

X 2.2197 cm3
< 3.1331 cm?3
o 4.1728 cm®

Q.10 Uw ¥ &1 YT &A% 864 cm? §1 I U BT AT 21

Question ID : 26433063978
Status : Answered
Chosen Option : 4

QN

Ans

IlﬁcosecA—cotA=fi§',Eﬂ'tanAa?rﬂm'ﬁT§'?

8
o7
8

15
15
17
17

X4 —
15

x 1.

<

Question ID : 26433075832
Status : Answered
Chosen Option : 2

Ans

Q12 Eroofsfes orf 7 s 1 ok S BT T 9 5 3R 5

e fafé== amit (A, B, C, D) & werdt (P1, P2, P3) &r Arar =t

gefea &Iar 2l

A mg A

EP3 MP2 mP1

FiF TE g2 Tl garst F A i e ¥ w9l suwer

A g7
X 1.P3
% 2.P13RP3
X 3.P2
4. P1

Question ID : 26433085473
Status : Answered
Chosen Option : 4




Q.13 = & 7$ arfRreT 5 faftr SR & o w3 9 4 Y Wen ) axid 21

eyt | sfFeT
b} 25
K 30
L 70
M 80
N 15

Tt Bfdeat & 10 T I 4THD! It Fa T 7 F?
Ans 7 1.220
X 2.250
X 3.180
X 4.240

Question ID : 264330105726
Status : Answered
Chosen Option : 1

Q.14 I19d P S A 20% Ft FH TP AR P Rs.450 H 50 kg 3P TTaed UTE S d JaH
AT B | ATaS BT g G fd kg T4 P

Ans X 1.Rs.1.25
 2.Rs.2.25
/< 3.Rs.2
5 4.Rs.1

Question ID : 26433065067
Status : Answered
Chosen Option : 2

Q.15 A ABC #, B TR H®SIUI, AB = 7 cm 3R AC - BC = 1 ¢m ©l sin C &1 HM JTd PHeg|

Ans 7
o 1. —

X2 —

X3 —

Question ID : 26433057161
Status : Answered
Chosen Option : 1

Q.16 AABC, # AB = AC §, fdg 0, BC R 39 T&KR ® f BO = O ? 3R OD Y@ AB WX avaad
2 3fik OE YW1 AC R T*=ad 2| afe .BOD = 60° §, @ - AOE T HIY gI:

Ans X 1.90°
X 2.120°
« 3.30°
X 4.60°

Question ID : 26433075401
Status : Answered
Chosen Option : 3




Q.17 A, B, C 31¥ D, Rs.93,100 P GURT AT B &1 AGA: B=1:2,B:C=3:43RC:D
=5: 6§, dl C BT 3w y1d P

Ans X 1.Rs.34,000
«” 2. Rs.28,000
2 3.Rs.25,000
< 4.Rs.31,000

Question ID : 26433063786
Status : Answered
Chosen Option : 2

Q.18 Tfd sind + cosd =\5sin(90 — 8) T, T cotd BT AT FTd BIT|
Ans
x 1. VE-1
o

VE+1

3

x 3 ¥5-1
4

VE41

< 2

Question ID : 26433061768
Status : Answered
Chosen Option : 4

Q.19 T forel # 10,24,000 Frawdt §1 afe S=e@m 2.5% ufd a9 @) a¢ & gedl 8, df 9 auf &
3 # FrarRal 91 T 3 i
Ans X 1.10,75,840

o 2.11,02,736
< 3.11,20,736
< 4.10,64,850

Question ID : 26433092149
Status : Answered
Chosen Option : 2




Q.20 A & 77 arferepT ©: BE §R1 S vl # ura i) @t guidt 21

IELE]
oY P Q
A 150 | 200
B 160 | 180
C 200 | 300
D 120 | 400
E 300 | 570
F 100 | 220

afe fawa p & forg siftresaw 900 3w 8, @ fawa P & A gRT, T 3w &1 wfa=rd faram 82
Ans X 1.1255 Ufa=d
« 2. 16.67 Hfa=d
2 3. 11.11 Hfa=d
< 4.9.09 U=

Question ID : 264330105709
Status : Answered
Chosen Option : 2

Q.21 gfg a+ b =5 3R ab = 6 §, dl 3(a2 + b?) T IO
Ans X 1.13

& 2.39
X 3.48
X 4.26

Question ID : 26433075268
Status : Answered
Chosen Option : 2

Q.22 e U THaTg Bys &Y Yoir 24 A, 8, 9 SHST Spd 7T 82
A o144 a2

X2 1253 a2
X 3. 16943 #rah?
X 425643 T2

Question ID : 264330105822
Status : Answered
Chosen Option : 1

Q.23 400 HieX Ft s H, A 16 MeXAPs B I | Ssar 81 4l A, B FI 15 Hiex F| Yo
a1 2 3R fb M I 10 AP A eI AAT 8, ot B Bt I1@ FATR?

Ans X 1. 9HIRGS
2. 1 HIR&S
X 3. 13 RS
X 4.10 TRGS

Question ID : 26433080227
Status : Answered
Chosen Option : 2




Q.24 fir 7T IF W e ST T I O B W v w7 I A

&, B CEATT
AT & AR Tl 7]

: I I I I
0 III I I lI II II III
018

2055 6 017 20; 2018 2020

&

=3

wA wB ul

2016 FT 2019 # Felr A F7 Fot 3eea, 2017 3 2018 # F9A C F Fol IedIga & Tohael Aicerd g7
Ans

<X 1. 20%
« 2 83.33%
X 3. 120%

x4 5%

Question ID : 26433076216
Status : Answered
Chosen Option : 2

Q.25 TP AUETY 25% P e & dIg 265,520 B 39T SIdT 81 AUCTY $T 3ifdra Tea Far u12
Ams 1. 287,360

X< 2. X83,760
X 3. 387,630

X 4. 387,370

Question ID : 26433076179
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.
Solomon always refers in the dictionary for clearing doubts about words.

Ans X 1. on the dictionary
o 2. to the dictionary
< 3. with the dictionary
25 4. No substitution

Question ID : 26433089275
Status : Answered
Chosen Option : 2




Q.2 In the given sentence the underlined word may have been incorrectly spelt. Identify
the option that rectifies the spelling. If there is no error in spelling, select ‘No error’.

Siraz-ud-Daula beseiged Calcutta to take punitive actions against the East India
Company.

Ans X 1.No error
o 2. besieged
/< 3. besiezed
X 4. besiejed

Question ID : 26433058640
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate ANTONYM of the underlined word.
The recent disaster of unprecedented floods in June 2013 in the state of Uttarakhand
devastated many towns and villages on the banks of the rivers Bhagirathi, Pindar,
Mandakini, Alaknanda and Sarju.

Ans X 1. Tarnished
25 2. Lacklustre
/< 3. Deranged

«” 4. Familiar

Question ID : 26433061564
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate synonym of the bracketed word to fill in the blank.

If we want to progress, we must sometimes embrace (mutate).
Ans X 1.imitate

< 2. replicate
< 3.incise
«” 4. change

Question ID : 26433060687
Status : Answered
Chosen Option : 3

Q.5 In the given sentence the underlined word may have been incorrectly spelt. Identify
the option that rectifies the spelling. If there is no error in spelling, select ‘No error’.

The adoloscent period of life, one of the most difficult stages of development, is
known as the period of stress and storm.

Ans X 1.adeloscent
2< 2. adelescent
«” 3. adolescent
2< 4. No error

Question ID : 26433058641
Status : Answered
Chosen Option : 3




Q.6 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. As a boy Elon was a keen reader and learnt how to code computers.

Q. He even made his own video game called Blastar.

R. Later he moved to Canada and then the United States setting up his first company

with his brother Kimbal in 1995.
S. But after some time, he sold that company to create a company called X.com.

Ans 7 1. PQRS
X 2.SQRP
X 3.RPSQ
X 4.PRSQ

Question ID : 264330104707
Status : Answered
Chosen Option : 1

Q.7 Select the option that expresses the given sentence in active voice.

The jewel thief was punished by the judge.
Ans & 1. The judge punished the jewel thief.
/< 2. The police had punished the jewel thief.
< 3. Punishment had been given to jewel thief.

5 4. Punishment was given to jewel thief.

Question ID : 26433088556
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Mr. Raghav racked his brain, but couldn’t think where he had left the book.

Ans X 1. knew it, but couldn’t quite remember it
/< 2. had a series of consecutive thoughts
«” 3. thought very hard
/< 4. thought he had heard something before

Question ID : 26433071893
Status : Answered
Chosen Option : 3

Q.9 Rearrange the parts of the sentence in correct order.
A single uranium
P. pencil eraser, contains the same energy
Q. pellet, slightly larger than a
R. as a ton of coal, 3 barrels of oil
S. or 17,000 cubic feet of natural gas

Ans X 1.RSPQ
2. QPRS
< 3.PRSQ
X 4.RPQS

Question ID : 264330104671
Status : Answered
Chosen Option : 2




Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Neither the doctors nor / the nurse were present / when the patient / reached the
hospital.

Ans X 1. Neither the doctors nor
< 2. when the patient
«” 3. the nurse were present

< 4. reached the hospital.

Question ID : 26433088156
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

Finally, here are a few examples of passages and their précis.
Ans X 1. of passages and there precises

«” 2. No substitution
/< 3. by passages and their précis

/< 4. of passages and there precis

Question ID : 26433073399
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate option to fill in the blank.

Although | have a good job, | wish to take the of starting my own business.
Ans X 1.look

o 2. risk
< 3. seat
75 4. back

Question ID : 26433089030
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate option to fill in the blank.

The little boy demanded colourful balloons, ribbons in the village fair. When the father
didn’t pay heed to his demands, the boy made a

Ans X 1.afarcry
/< 2. jaundiced eye
75 3. cloven hoof
o 4. wry face

Question ID : 26433070546
Status : Answered
Chosen Option : 4




Q.14 Select the most appropriate synonym of the underlined word.

The present paper throws light on the nexus between the academic performance and
mental health of children.

< 1. Alignment

Ans

5 2. Incongruence

/< 3. Dispute
o 4. Link
Question ID : 26433070508
Status : Answered
Chosen Option : 4
Q.15 Select the option that can be used as a one-word substitute for the underlined group
of words.
The man supervising the exam had a huge moustache.
Ans X 1. Curator
«” 2. Invigilator
75 3. Examiner
2< 4. Controller
Question ID : 26433088617
Status : Answered
Chosen Option : 2
Q.16 Select the correct direct form of the given sentence.
Mr. Sharma asked him if Maya had invited him for lunch.
Ans X 1. Mr. Sharma said to him, “Did Maya invited us for lunch?”
< 2. Mr. Sharma said to him, “Had Maya invited us for lunch?”
5 3. Mr. Sharma said to me, “Has Maya invited you for lunch?”
” 4. Mr. Sharma said to him, “Has Maya invited you for lunch?”
Question ID : 264330104637
Status : Answered
Chosen Option : 4
Q.17 Select the most appropriate option to fill in the blank and complete the collocation.
Every time my boss comes up with some good idea, he gets into
Ans X 1.sleep
o 2. trouble
2< 3.fun
< 4. shock
Question ID : 26433073566
Status : Answered
Chosen Option : 2




Q.18 Select the most appropriate synonym of the underlined word in the following
sentence.

Listening to the news of his father’s illness, Soumen left for home with a heavy heart.
Ans X 1.disturbance

& 2. sickness
/< 3. disintegration
X 4. disorder

Question ID : 26433070647
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

One of my friends is gone to Goa for a holiday.
Ans X 1.were gone

< 2.gone
«” 3. has gone

< 4. are gone

Question ID : 26433081307
Status : Answered
Chosen Option : 3

Q.20 Select the option that expresses the given sentence in passive voice.

Mandeep has repaired the truck.
Ans X 1. The truck is been repaired by Mandeep.

«” 2. The truck has been repaired by Mandeep.
/< 3. The truck have been repaired by Mandeep.
#< 4. The truck had been repaired by Mandeep.

Question ID : 26433093525
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tattooing is a talent that requires a lot of time and (1) . There are many various kinds
and (2) of tattooing. Tattooing was and still is a means to communicate
someone's thoughts or life by permanently (3) a design of ink and colour into their
flesh. The first step in tattooing is to develop an artistic (4) and the skill to sketch
and create your artwork. Tattooing penmanship is far more (5) than sketching on
paper.

SubQuestion No : 21
Q.21 Select the most appropriate answer to fill in blank 1.
Ans X 1. liability

X 2. integrity
/5 3. capacity
«” 4. ability

Question ID : 26433084874
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tattooing is a talent that requires a lot of time and (1) . There are many various kinds
and (2) of tattooing. Tattooing was and still is a means to communicate
someone's thoughts or life by permanently (3) a design of ink and colour into their
flesh. The first step in tattooing is to develop an artistic (4) and the skill to sketch
and create your artwork. Tattooing penmanship is far more (5) than sketching on
paper.

SubQuestion No : 22
Q.22 Select the most appropriate answer to fill in blank 2.
Ans X 1.gestures

& 2. genres
X 3. views
< 4. keys

Question ID : 26433084875
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tattooing is a talent that requires a lot of time and (1) . There are many various kinds
and (2) of tattooing. Tattooing was and still is a means to communicate
someone's thoughts or life by permanently (3) a design of ink and colour into their
flesh. The first step in tattooing is to develop an artistic (4) and the skill to sketch
and create your artwork. Tattooing penmanship is far more (5) than sketching on
paper.

SubQuestion No : 23
Q.23 Select the most appropriate answer to fill in blank 3.
Ans X 1. detaching

X 2. combining
o 3. embedding
X 4. fertilising

Question ID : 26433084876
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tattooing is a talent that requires a lot of time and (1) . There are many various kinds
and (2) of tattooing. Tattooing was and still is a means to communicate
someone's thoughts or life by permanently (3) a design of ink and colour into their
flesh. The first step in tattooing is to develop an artistic (4) and the skill to sketch
and create your artwork. Tattooing penmanship is far more (5) than sketching on
paper.

SubQuestion No : 24
Q.24 Select the most appropriate answer to fill in blank 4.
Ans X 1.career

&< 2. glimpse
25 3.drama
" 4. attitude

Question ID : 26433084877
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tattooing is a talent that requires a lot of time and (1) . There are many various kinds
and (2) of tattooing. Tattooing was and still is a means to communicate
someone's thoughts or life by permanently (3) a design of ink and colour into their
flesh. The first step in tattooing is to develop an artistic (4) and the skill to sketch
and create your artwork. Tattooing penmanship is far more (5) than sketching on
paper.

SubQuestion No : 25
Q.25 Select the most appropriate answer to fill in blank 5.
Ans X 1. confiscated

& 2. complicated
/< 3. aggravated
< 4. authenticated

Question ID : 26433084878
Status : Answered
Chosen Option : 2
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